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1. Question no.l1 is compulsory ¥
2. Attempt any three questions out of the remaining five.
3. Assume suitable data wherever necessary.

1. ‘ 20)
a) Determine the fundamental period of the following signals. '
i)x(t) = 2cos——+ 3co 277“ ii) x[n] = cos F ]
b) Prove and explain timc scaling and amplitude scaling property of Continuous tlmt:

Transform.

¢) For the given system, determine whether it is, i) memory Iess, ii) causal, iii) tlme-mvanaut
ylnJ=nx[n]

d) Find out even and odd component of the following signal.

x(t) = .:'032(525) '

a) Determine the trigonometric form of Fourier Series of the wavefc.- in shown below. (10)
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b) State duality property of Fourier Tmnsform If Fourier Transform of e*u(t) is , then find the

Fourier Transform of % usin;;;.:iuaiity property. 10) -

a) Obta;ﬁjiriverse Laplace transform of the function. Write down and sketch possible ROCs. (10)
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' b) Using the z transform, solve the &iffercnce equation and find out impulse response. (10)

yin]-2y[n-1]+ y[n—-2]= x[n]+3x[n—-3]

: a) State and explain different.properties of ROC of Z transform. . 5) r
b) Convolve the sequences shown in the following figure using circular convolution (5}
2 g { n] 2 2 k[ n] A
] el o
By 33 .11 0 1 2 3 7
¢) A continuos time signal is shown below. Sketch the following transformed i}VErsions of the signal.
' )
A xit) €9
_ : 0 1 ot
i) x(t-3) ii) -2x(t) iif) x(t-3)-2x(t)
a) Convolve x[n] =[§—) u[n] with A[n] = (%} u[gc}{'..i”s;ing convolution integral. _ (10)

b) A second order LTI system is described byi;}gl+ 5 %+ 6y(t) = x(¢) . Determine the transfer

function and the poles and zeros o*’tha systems. Evaluate zero-state response to x(t)=u(t) (10)

a) Forthe periodic signal x[nj ;"given below find out Fourier series coefficient. (10)

- (2 2z 4z
~ x[n]=1+sin| — |n+3cos| — |[n+cos| —rn+—
M [N] -(N]" - (N" 2J
b) The input and _in}p'ulse responses of continuous time system are given below. Find out output of the
continuous timgi”systems using apprcl)priate method. (10)

x(t) = u(t)h(t) = eu(f)
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Correction:

Question no.: 4 (C)

The amplitude of the signal x(t) shown in the
corresponding figure is to be taken as 'A’ units.
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